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1\ X&5% =) HESE 1900 2600, 1400/ 640/ 1300 7840 4500
1 E#%E =) HESE 1900 2600, 1400/ 640 1300 7840 4500
3|INRIERE =3 ] 2600 240 1300 640, 960 5740 3900
3 EEETR =2 DJTT 2600 240 320/ 1300, 640 5100/ 3900
5| =ZERE =3 th &R 1900 960 1300 4160 3200
5/f£ < REA =3 th &R 1900 960 1300 4160 3200
7|BRIR K =3 ] 120 640 960 1720 1600
8| = B & =3 TS B 800 240 640 640 2320 1440
8 EHHEE =3 IR 800 240 640 640 2320 1440
10 BEES =) HESE 120|  320| 480| 640 1560 1120
11| LASHE =2 i} 120 640 320 1080 960
11| RN =3 R 60 320 640 1020 960
11| BB 5 ER =2 R 60 320 640 1020 960
EES =2 Bkt 60 320 640 1020 960
15| &ERH =3 DJTT 400 120 480 1000 880
16 |1£ R KR =2 IR EE 60 320/ 320 320 1020 640
16| RERIK $13 DJTT 640 640 640
16|47 81K =3 Btk 640 640 640
16| ILASLX 3 Z- b 320 320 640 640
16| B)11EX 3 Z- b 320 320 640 640
21| BEERE =1 IR AE 480 480 480
21|ZAEERK =) IR AE 480 480 480
21| EHEE =2 >4 480 480 480
21| HeEEE =2 >4 480 480 480
25| % HBEEA =3 A 400 400 400
26 | HAJRMES =3 T3 EREE 60 320 380 380
26| 2 LfEE =2 [EEi=t o 60 320 380 380
26| {EHEK =2 -4 60 320 380 380
26| |LIFE & =2 >4 60 320 380 380
30| {EBEME =2 IR AE 320 320 320
30| K EKREG =1 I EREE 320 320 320
30| LRI =) IR AE 320 320 320
30| H AR =2 R 320 320 320
30| F &K EH =) R 320 320 320
0| WAIGR =1 R 320 320 320
30| B H IR =1 R 320 320 320
30| JIIARREXR =2 R 320 320 320
30| A BEAEA =2 R 320 320 320
30| AT HEAE =2 -4 320 320 320
30| FEEA =2 -4 320 320 320
M| 5 ZhHE 13 Z-Hh 240 240 240
4| RABAE 3 Z-Hh 240 240 240
3| FHEEE =1 i} 160 160 160
43| TEE R =) iz} 160 160 160
43|/ =] =) iz} 160 160 160
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43| ILAERE =1 ] 160 160 160
47| FILE S 3 Z-h 120 120 120
48| /MR E X == DJTT 60 60 60
49 B ERMB N DJTT 15 15 15
49| EHmEE N DJTT 15 15 15




